Name: ___________________________

Date: ___________

Fathom2 Least Squares Activity

We are given the following data about ten different sailboats:

	Length
	Beam

	17.2 ft
	
7.4 ft

	
14.76 ft
	
7.5 ft

	
30 ft
	
13 ft

	
23 ft
	
8 ft

	
42.5 ft
	
11 ft

	
16.5 ft
	
19 ft

	
26 ft
	
8 ft

	
20 ft
	
7 ft

	
16 ft
	
8 ft

	
30.25 ft
	
10.25 ft


Now, using Fathom2, create a table of this data.  Begin by clicking the table icon and dragging a table onto the blank Fathom document.  Type the labels in the first row, pressing Tab to cycle between columns.  After typing the labels for each column, click the in the second row under the first label.  Type in the data as shown above, cycling between columns by pressing Tab.

Once all the data has been input, you will create a scatter plot of the data to look at length versus beam.

Now find the line of least squares.  What is the equation of this line?

Do there appear to be any outliers influencing this line?  Why do you believe this to be so?

If so, remove these outliers by clicking on them and going to Edit, Delete Case.  What is the equation of your new least squares line?

What do you believe would be the length of the beam of a sailboat that is approximately 27 feet long?

How did you find this value?

Why does this method work?

What is another method you might use to find this value?

